15ft Harness
Opticn 5
15ft Extension Hamess

Option SPRAYING DEVICES INC.

6ft Cab Harness
i' connected to control kox

8t hamess, included
in 2040LWP control kit

Tank Retumn /
From Valve Bark (@) O

Return from

Pressure Regulator,
Diaphragm Pumps
Only

items nof included in cortrol Bac ]
2040LWP Reguiator Side of Pump ittings

SDI Solenoid Control

Valves Part 2040LWP PI0406/1212j

Spraying DevicesInc. ¢ P. O. Box 3107  Visalia, CA. 93278 « Tel: (559)SDI-5555 « Fax: (559)SDI-5591




SDI Solenoid Control Valves

[tem Part
Number Number Description Qty
2040LWP | Solenoid Control System with wire harness,

weather pack connectors, regulator, shut-off

vakves, pressure gauge and control box, 6 ft cab

harness and 8 ft. sprayer harness.
1 2040LWP Solenoid Control Valves W/Weather Pack 1
2 1585WP 15 Ft. Extension Harness-trailer mount sprayers only 1
3 1577WP 15 Ft. Harnessin lieu of 8 Ft. Harness 1
4 56-026-1 Solenoid Valve 1
5 56-025 Pressure Regul ator 1
6 52-120 Adapter Elbow 1 MPT x 1" HB 3
7 21-938 Hose 1" ID, 200 PSI, Per Ft (originally 107 Specify
8 52-112 Elbow Adapter 3/4 MPT x 3/4" HB 4
9 24-116SS Hose Clamp #16 SST 4
10 24-112SS Hose Clamp #12 SST 8
11 21-930 Hose 3/4" ID, 200 PSI, Per Ft (originaly 25') Specify
12 49-532 Tubing 5/32" Per Ft. Specify
13 56-510 Fitting 1/8" MPT x 5/32 Tube 1
14 56-2152 Adapter 3/4 MPT x 3/4 FPT x 1/8" FPT 1
15 50-663SS Bushing 1 MPT x 3/4" FPT SST 1
16 41-502 Nut 5/16" SST 2
17 43-502 Lock Washer 5/16" SST 2
18 32-503 Bolt 3/8 x 1" SST 2
19 43-503 Lock Washer 3/8" SST 2
20 31-503 Hex Bolt 3/8 NC x 1" SST 2
21 41-106 Channel Nut 3/8" 2
22 11-639-2 Bracket 1
23 53-435 Adapter 1 MPT x 1" HB Poly 3
24 53-826 Tee 1" Poly 1
25 53-912 Close Nipple 1" PVC 1
26 50-510SS Street Elbow 3/4" SST 1
27 51-501SS Close Nipple 3/4" SST 1
28 60-324 Ball Valve 3/4" Brass 1
29 53-134 Adapter 3/4 MPT x 3/4" HB 1
30 53-886 Pipe Plug 1" Poly

12/5/12jh

Spraying Devices, Inc.eP O Box 3107¢Visalia CA 93278Tel: 559-SDI -5555¢F ax: 559-SDI-5591

WwWw.sprayingdevices.com




